WM

XQ(D) % % B i 2 5 B 3h ¥l

XQ (D)Series DC Traction Motors

e

Ih =0.55~13 kW

T1EHI s2

B 22-75V
BHEFRF

BRAT: AERMEBENESIITENIRSIFFE E IR RER
RIIRE), EBEAT 05~3 X FAE., 2-5 MiREENRE.

Applications:

The motors are capable for driving the

industry electrical vehicle where only DC power is
available, such as the vehicles for fork-lift, conveyor,
traction and stow. The motors used for propering and

auxiliary driving

R EIRTERE

power.

g, WEEESIE.

FaRBESRENX Designations of the type
X Q —-2.2 - 4 (@) X Q D-7.5-2
t e u it

Wit s BUE D%

BUE D)5 i Bh FL B AL

75| AL 75| FLFL

& FLh ZE 5 & HLIh 25

Himg:5] janl ELAH B B

4 BE ##E Performance Data B L R
e B | BoE | Bie | B g
Sl M5 | TR | | R | Rl AR ik iReiEH
~ ) | v | @ | Gmin (ko)
1 | XQ-0.55-1 | 055 | 22 38 2100 S230min | 11 | FbaCH% 0.5-1T 173
2 | XQ-075 | 075 | 22 50 2400 S230min | 11 | EpCH 4 0.5-1T 173
3 | XQ-0.75-1 | 0.75 | 22 50 2400 S230min | 13 | EpsURH FE 0.5-1T 173
4 XQ-1.2 1.2 24 67 1900 S260min | 29 | 370 H 1-1.2T HEYENUATAE
5 XQ-1.5 15 | 34 62 1900 S260min | 38 | ik d FEf iz 4
6 | XQ-2.2-1 | 22 22 | 135 1600 S260min | 44 | fek 1-1.2T 177&
7 | XQ-2.2-2 2.2 45 65 2400 S260min | 43 | feBEH 4 0.5T HEHHATE
8 | XQ-22-4 | 22 45 64 1900 S260min | 40 | {efg 1.25T 177&
9 XQ-3-1 3 45 87 1780 S260min | 48 | fefE i 1.25T-1.75T =37 4T

Hohb: g5 2 X AR E B 1198 5 1806 =
Fii%: 021-59506166 . 59506677

T 021-59504788

M4 : shwdmotor@163.com . wnmotor@126.com

A 3k:  shwdmotor.com




WM

10 |  XQ-3-2 3 22 | 190 1500 S260min | 70 | feBEH 4 1-1.35T =3 mifT7E
2N E X
11 | XQ-3-3 3 40 97 1500 S260min | 75 i; B I X0 i 2T #5| E
4 BEZ3E Performance Data B E AL CRID
. wWoE | BE | A e B
5 VNS R | HE | HR LZSUH T AR (ko) gEr e heeE A
N ®W) | V) | A | G/min J
2R kX -
12 | XQ-3-3D 3 45 90 1800 S260min | 75 z; I O i 2~3T #=5|. #Wis%
5 £ X N
13 | XQ-3-3H 3 45 90 1800 S260min | 75 ZE % [H X it 2~3T 7275| PRIz R G2
14 | ZC3-48A 3 48 72 2800 S260min | 38 | 19 KN JAE Jite 5 W0 G B
15 XQ-4 4 45 110 1700 S260min | 85 | fEdHidh 1-1.35T 473
16 XQ-4-1 4 45 110 1700 S2 60min 90 | FEE (R HE Al 1-1.35T 175&

17 | XQ-45 4.5 45 | 125 1350 S260min | 89 | HEEFEHEHA | 1.2T 177k

18 | XQ-45-1 | 45 | 45 | 125 1800 S260min | 89 i;% e 3~5T 5|, WiaZ
19 | XQ-45H | 45 | 45 | 125 1800 S260min | 89 * R Z/f if 3~5T 5|, WiaZ
20 XQ-5 5 45 | 139 1480 S260min | 95 | frfg i H 1.5-1.75T 473&
21 | XQ-5-1 5 45 | 139 1480 S260min | 95 f;% X H 4~TT iz, &5 %
22 |  XQ-5F 54 | 48 | 140 1680 S260min | 95 ?; R T B8 1.5T i AT A2 A XA 5]
23 | XQ-5H 54 | 48 | 140 1680 S260min | 95 ;; A A ;[6 UL L L s
24 |  XQ-6.3 6.3 45 | 173 1200 S260min | 112 | fef il 2-2.5T 173
25 | XQ-6.3-1 6.3 45 173 1200 S2 60min | 112 | Fiba0H Fh 7~-10T #iz. &5 %
26 XQ-8 8 45 | 222 1300 S260min | 120 | fE i 2-25T 177
27 | XQ-10-1 10 75 | 165 1200 S260min | 135 | fef i 2.5-3T 173

M BEHHE Performance Data B AT AL ()
e BUE | BUE | BUE | L | BuE )

M5 T | W | HIR | IR | B AR ghr T TheeiE

5 &) | ™ | @ | @ | wmin (ko)
1 | XQ-055T | 055 | 22 37 4 2100 | S230min | 11 | EhaUH A 0.5-1T 477&
2 | XQ-0.75T | 0.75 | 22 50 6 2400 | S230min | 11 | EhaUH A 0.5-1T 477&
3 | XQ-0.75-1T | 0.75 | 22 50 6 2400 | S230min | 13 | EFXXUHHT | 0.5-1T 477

Hohk: VTS 2 X AR B 1198 5 1806 = fE4: shwdmotor@163.com . wnmotor@126.com

FiiE: 021-59506166 . 59506677 f&£H.: 021-59504788 Pdk: shwdmotor.com




WM

4 XQ-1.2T 1.2 24 67 8 1900 | S260min | 29 | SraRUHEL | 1-1.2T MESHUATE
5 XQ-1.5T 1.5 34 62 8.7 1900 | S260min | 38 | L H % etz 4
6 | XQ-22-1T | 2.2 22 | 135 9 1600 | S260min | 44 | L H H 1-1.2T 177
7 | XQ-22-2T | 22 45 65 75 2400 | S260min | 43 | feBEH 4 0.5T HEBHLATAE
e BUE | AUE | BUE | L | BuE e \
o M5 T | W | RIR | IR | R T A A Th&giE H
N «w) | M@ | @ | amin (ko)
8 | XQ-22-4T | 22 | 45 64 8.5 1900 | S260min | 40 | fuik 1.25T 177
9 XQ-3-1T 3 45 87 10.5 1780 | S260min | 48 | fLEEH Hh ;’25_1'7“ =3RAT
10 XQ-4T 4 45 | 110 11 1700 | S260min | 70 | fed i 1-1. 5T =X fifriE
1 XQ-5T 5 45 | 135 20 1480 | S260min | 95 | frig i 1.5T 173
12 | XQ-5.2T 52 | 45 | 139 20 1480 | S260min | 95 |18 Ui4hfdE | 1.5T 473
13 | XQ-6.3T 6.3 | 45 | 172 11 1400 | S260min | 112 | &g % 2-2.5T 177
14 | XQ-6.3A 6.5 45 | 173 | 115 1200 | S260min | 112 | 18 vi4hfekd | 2-2.5T 173
15 | XQ-7A3 7 45 | 180 | 115 1400 | S260min | 120 |18 ii4hfefE | 2-2.5T 177&
16 | XQ-8A3 8 45 | 220 11 1550 | S260min | 120 | fekg i 25T 177&
17 XQ-8T 8 45 | 222 25 1200 | S260min | 120 | fedkH 2-2.5T 173
18 XQ-10T 10 75 | 150 16 1450 | S260min | 135 | fEEH % 2.5-3T 177&
19 | XQ-10.2A-T | 102 | 75 | 1625 | 16 1500 | S260min | 135 |18 ii4MEfE | 2.5-3T 177&
M EE#HE Performance Data H B H B
wisE | HiE | Hin Wi
AR et e e B I Gkt D
= kW) | (V) | (A) | Cr/min) A (ko)
1 | XQD-0.75-2 075 | 45 25 1650 S| S215min | 12 | ENRAHPEEHN, MU DR | 1-1. 5T #h)
2 | XQD-0.8 0.8 45 25 1500 il | S260min | 24 | ENERHPEEHN, MR DR | 1. 5-2.5T A
3 | XQD-0.8-5 095 | 22 | 65 2200 S5 | S260min | 24 | ERRAFEI, [MUR O | 1. 5-2.5T #
4 | XQD-1.35 135 | 75 | 25.1 1500 i | S230min | 24 | EhEGEERL MUR CEREE | 3T A
5 | XQD-1.35-2 1.35 45 42 1500 S | S2 30 min 24 | EFHTRCHD, T 1 e TQ% IR
6 | XQD-3 3 24 175 1700 il S2 5 min 24 SLF A B ;N IR i
7 | XQD-6.3 63 | 45 | 173 2000 i | S215min | 72 | ENRERIE, AR AIER | 15T $27F
8 | XQD-75 75 45 | 205 2000 S | S215min | 80 | EhEUHIRM, EMAiERE | 2T #2271
Hohk: VTS 2 X AR B 1198 5 1806 = fE4: shwdmotor@163.com . wnmotor@126.com
Fiifi: 021-59506166 . 59506677 £ E: 021-59504788 4k shwdmotor.com




WM

9 | XQD-7.5-2S 75 45 | 210 1550 i | S215min | 80 | EhEUHIEH, 10 tiAfEsE | 1. 5T 427+
1-1. 5T R =LA
10 | XQD-7.5-2J 75 45 210 1550 $H | S2 15 min 80 | EhxUHTIEN, 10 th N AR -
E
11 | XQD-7.5-2SW | 7.5 45 | 210 1550 B | S215min | 80 | EhRIFEM, AR | 15T 27+
12 | XQD-7.5-3S 75 45 210 1550 H b S2 15 min 80 | BPFHFEEHI, 10 gk | 1. 5T &7+
13 | XQD-8.2 8.2 45 | 240 1600 B | S25min | 45 | ENRTEREM, 10 A 4EsE | 1. 5T $27F
WE | BUE | BoE | Aile ,
. . itk i , s
PUm om o | | | s | e | Gt S
T
- W) | V) | @) | Gmin
14 | XQD-8.2-1 8.2 45 240 1600 R Jih S2 5 min 45 | ErERARERIE, AR AfEEE | 1. 5T $EFF
15 | XQD-8.6 8.6 45 | 248 1600 B | S25min | 45 | EFRICEERI. 10 thAfERE | 2-2.5 T $27F
16 | XQD-8.6-3D 8.6 45 | 248 1600 | S25min | 45 | 90° JEM, &BATEE | 2-2.5 T $#27F
17 | XQD-8.6-2S 8.6 45 | 235 1550 B | S25min | 80 | EhRAFEEH, AR | 2T $27+
18 | XQD-8.6-3S 8.6 45 | 235 1550 B | S25min | 80 | ERRAEM, 10 thiesd | 2T $27F
o 1.6T i 7
19 | XQD-86H-1S | 86 | 45 | 235 | 1550 B | S2s5min | 80 | 10 thipyAEEE )y v o 7 AR
18T M= M
20 | XQD-8.6FQ 8.6 45 235 1550 = Jih S2 5 min 80 | Eh=UAs I, 10 i Py fek "
e
21 | XQD-10-5 10 45 278 2000 Sl | S215min | 83 | BB, MR AEE | 25T $27F
22 | XQD-10-2S 10 45 275 2000 £ i S2 15 min 83 | BRI, 10 157ERE| 2.5 T $&7F
_ 2-2.5T ACi = i
23 | XQD-10-2J 10 45 275 2000 HJ | S2 15 min 83 | Eh=UH7 I, 10 5 A e 51
24 | XQD-10-3D 10 75 160 2000 5l S2 15 min 83 BRI, AR AT | 25 T 427
25 | XQD-12 12 75 193 2000 S | S215min | 85 | EhAEERM, MEBATER | 3T HeFt
26 | XQD-13-2S 13 75 210 1500 5l S2 15 min 85 | EhaUAHFIER, 10 i5pvqe | 3T $271
27 | XQD-13-C 13 75 | 210 1500 @I | S215min | 85 | BN, AR AER | 3T 2+
SME R RERT Dimensions mm
1~3.5T X2k HHL @
L iy
AN =
[ - o =
i [ 5
it
= [
¢ B

Hohb: g5 2 X AR E B 1198 5 1806 =

FiiE: 021-59506166 . 59506677

R

021-59504788

MRS -

AB

shwdmotor@163.com .

wnmotor@126.com

A 3k:  shwdmotor.com




WM

W o ?%)_ﬁ'#_ %ﬂ%_ﬁ'i
Type Mounting Dimension Overall Dimension
A B C F H N P S K AB AC HD L
XQD-0.75 115 | 100 50 8 63 100 80 M8 ®10 135 | 120 | 150 | 231
XQD-0.8 155 | 100 30 8 82 100 80 M8 ®10 175 | 160 | 201 | 235
XQD-1.35 155 | 100 30 8 82 100 80 M8 ®10 175 | 160 | 201 | 270

1~1.5T XM IEAL B 5] L

)
— 0000 ||B
—_— O000O
P = 0000 || g
.I i. s 0000
H-EE Bl
¢ — ° 0000
) 0000 ||H
¥ Soee
0000 || j
B (T L
Rl i 7 B R b RO
T N Mounting Dimension Overall Dimension
e
w T E D F G M N S H AC L
XQ-5C 10 60 28 6 23 120 | 215 ®13.5 170 240 402
XQ-5-T 10 60 28 6 23 120 | 215 ®13.5 170 240 402
XQ-5-3A1 10 60 28 6 23 120 | 215 ®13.5 170 240 402
XQ-5-4A4 10 60 28 6 23 120 | 215 M12 170 240 402
XQ-6.3-5 10 60 28 6 23 120 | 215 ®13.5 185 270 4255
2~2.5T XA Aest 7 5] bl
N\
Q) :
sk
| _ QJ dl 188 @il <
(J = | [o}e) @ -
D 88 7
8358 ||
T1
ETIT L

Hohb: g5 2 X AR E B 1198 5 1806 =
Fii%: 021-59506166 . 59506677

T 021-59504788

HIS A -

shwdmotor@163.com . wnmotor@126.com

A 3k:  shwdmotor.com




WM

o o % g ) 5 R~
j_; N Mounting Dimension Overall Dimension
e
P T1 T E D F G M P N S H AC L
XQ-6.3-2 6 14 | 56 | 32 6 26 | 170 | 90 | 250 | M12 185 270 399.5
XQ-6.3-T 6 14 | 56 | 32 6 26 | 170 | 90 | 250 | M12 185 270 397
XQ-8-1T 8 14 | 58 | 32 6 26 | 170 | 90 | 250 | M12 185 270 393.5
XQ-8T 8 14 | 58 | 32 6 26 | 170 | 90 | 250 | M12 185 270 3935
(S
@ -
(oX e}
.I88]._.
3333 ||H
0000
= = 09 =
7 —l oo @[] <=
=| T [oo NeeY, -
D /G 88 —
— 3388 ||H
o 3888
gg 0000 g
E|IT L
o 22 4 R 5 Rt
3; N Mounting Dimension Overall Dimension
e
yP T E D F G M N S H AC L
XQ-8 10 50 32 7 28 130 250 M16X1.5 185 | 270 397
XQ-7A3 10 50 32 7 28 130 250 M16X1.5 185 | 270 390
XQ-8A3 10 50 32 7 28 130 250 M16X1.5 185 | 270 390

1~3T X AHIT L= L

FFaniusts
id L 10
#5 02 18/31
Ehé O i
= ' : SEREE D LTS
M * TREE 0, B13. 49
ﬁ & b, ST 45
= 8 D I
|_| 8 B3
= ‘é— 4 fHRE 1L B
I §i 18
B T T ]
FREAERAN bk | L3N
EEGRIRME BL | LD
18 Eﬂ FFAR AR Do | 417400
T R EFRELE N, Lon
¥ £ 101
L LS F 1018
Hohib:  EVET RS E X HE S B 1198 5 1806 = fil4: shwdmotor@163.com . wnmotor@126.com
H1f: 021-59506166 . 59506677 fE . 021-59504788 P4k:  shwdmotor.com



WM

o % % Rt 5% R+
T Mounting Dimension Overall Dimension
e
P A B C T M P N H S K AB AC HD L
XQD-7.5-3S | 216 130 | 57 | 14 140 | 80 109 125 | M10 | ®12 246 240 295 | 345
XQD-8.6-3S | 216 130 | 57 | 14 140 | 80 109 125 | M10 | P12 246 240 295 | 345
XQD-10-3S | 216 110 93 | 10 140 | 80 109 125 | M10 | P12 246 240 295 | 365
XQD-13-3S | 216 140 | 93 | 10 140 | 80 109 125 | M10 | ®12 246 240 295 | 395
AABALSEEE
@ [1 A0 L]
ET B3 2} 18R
i = i) Ehdlal
D = GEEEED #15.875
* = — AWEE ) #1349
 — o ) §17.4675"
. 8 i) g4 467%"
= — = T §L043
— WHE 11,538
Ca . e &1 L8
d-M1g=1,1235 — pASEEREES N | 80 (GBI 1830
. - OO0 £EORER LIk Lstlg
5 000 | H :’:::fl:;j]‘; mo'IJT_-in?-
[ B AERELEL) 2]
FELEU L 31
L. ELET A (L
L % %% R 5 R
] Mounting Dimension Overall Dimension
Type
B C T M P N S H AC L
XQD-8.2 100 75 15 135 82.55 115 M10X1.25 140 207 321
XQD-8.6 125 75 15 135 82.55 115 M10X1.25 140 207 335
@ Hrdptusns
[ —— Q HE ! 10
— N L L 16131
e ERE i
—_— PERAE 1 YR
o 3 —— ENEE b 134 M9
A —_— X8 D, [T
m f——— ) g Dy 16
== = iR 4.0
M ftHE 1.4
o o @ o0 O 1 140
o oCco LEEGERAE @ | 6 (EHILI-1)
o000 tEAMERAE  E.| 10
0000 =Eh§t:th |t| E':‘:E,--.
T I NN AR
[ B i whed f: | LI
- FETS Fe| LIu
L AB

Mohb: By 5 e X4 E i 1198 5 1806 =
Hif: 021-59506166 . 59506677

R

021-59504788

M4t : shwdmotor@163.com .

wnmotor@126.com

P4k:  shwdmotor.com




WM

Rl i 7 B R b % RO
- j Mounting Dimension Overall Dimension
P A B C T M P H N S K AB | AC |HD| L

11 | M10x | M10x | 22 | 24 | 29 | 36

XQD-10-4D | 216 | 110 | 93 | 10 | 140 | 82.55 | 125
5 1.25 1.25 3 0 5 5

1-3.5T X EH A es 22 AL

()
S
‘ cooollB
0000
0000
0000
(A < =
N 2
a 000 O
0000
0000l
| =22 2 1IE
. |
L 2461
2 S Z S
! w AR AT 5 R SF
T Mounting Dimension Overall Dimension
e
P A B C T H M P D |F| G N S K AC | HD L
XQD-6.3B 216 130 | 57 14 125 140 | 80 18 51|15 109 M10 d12 240 | 312 | 345
XQD-7.5-2 216 130 | 57 14 125 140 | 80 18 51|15 109 M10 d12 240 | 312 | 345
XQD-7.5-C 216 130 | 57 14 125 140 | 80 18 5 |15 109 M10 »12 240 | 312 | 345
XQD-8.6-C 216 130 | 57 14 125 140 | 80 18 5 |15 109 M10 »12 240 | 312 | 345
XQD-10-C 216 130 | 80 10 125 140 | 80 18 5 |15 109 M10 »12 240 | 312 | 363
XQD-12 216 140 | 93 10 125 140 | 80 18 5 |15 109 M10 »12 240 | 312 | 395
XQD-13-C 216 140 | 93 10 125 140 | 80 18 51|15 109 M10 M12 240 | 312 | 395
XQD-13-2C | 216 140 | 93 10 125 140 | 80 18 51|15 109 M10 d12 240 | 312 | 395
XQD-8.2-1 216 130 | 57 15 125 136 | 80 18 51|15 109 M10 d12 207 | 260 | 321
XQD-8.6-1 216 130 | 57 15 125 136 | 80 18 51|15 109 M10 d12 207 | 260 | 335
Hohb: BT 5 X 4w B 1198 5 1806 = #Hi4i: shwdmotor@163.com . wnmotor@126.com

Fii%: 021-59506166 . 59506677 f£ 3. 021-59504788 P4k:  shwdmotor.com




WM

1~3.5T X ZErree etz 5] Bl

L5 41 LJ']|||:,(,|_~C

A RERERRLEEE
“ﬁ% bt — Eh (ERR)
- S ﬁ |, ,| == || L5 () §—57
m —_ 1:||
= i
g @ T
— 17 A% (o)
g 620 3 (m)
B @2 700 (om )
i
B LT L
Rl 7 R b B RO
T N Mounting Dimension Overall Dimension
e
w T E M P N S H AC L
XQ-5.2T 8 60 200 95 170 M14X1.5 170 240 412
XQ-6.3A 8 60 230 95 170 M14X1.5 185 270 402
XQ-10.2A-T 5 55 210 95 170 M14X1.5 220 300 390
1~3T XA AE S A L
o [ ¢ s
[ boo =
g F :
L .
Rl i 7 3RS b T RO
T j Mounting Dimension Overall Dimension
w B C T M P N D F G S K AC L
XQD-8.6-3D 140 | 93 | 15| 136 |80 | 109 | 18 | 5 | 15 M10 ®20 207 335
XQD-8.2-3D 140 | 93 | 15| 136 |80 | 109 | 18 | 5 | 15 M10 ®20 207 321
XQD-10-3D 140 | 93 | 10 | 140 | 80 | 109 | 18 | 5 | 15 M10 ®20 240 362.5
Hihk: TS R X A B 1198 5 1806 = 47 : shwdmotor@163.com . wnmotor@126.com

FiiE: 021-59506166 . 59506677 f&£H.: 021-59504788 Pdk: shwdmotor.com



WM

3~3.5T X EH AT A AL

= I i Ly
= J s & [y =
= o X
3
24 \/ ;
#-
BT TN
. % % R 5% R
s Mounting Dimension Overall Dimension
Type
T E D F G M N S H AC L
XQ-10A 10 60 32 7 28 130 | 283 6-M16X1.5 220 | 300 | 400
XQ-10-1C 10 50 32 7 28 130 | 250 10-M16X1.5 220 | 300 | 400
XQ-10T 10 50 32 7 28 130 | 283 6-M16X1.5 220 | 300 | 400
2~10T X G ekt Z 5] Bl
Q00O
0000 s L
QN —h -
OO s
0000 B
0000
0000
0000
| &
L
Rl i % RO b RO
T N Mounting Dimension Overall Dimension
e
P M D F G T E S L AC
XQ-1.5-HT 100 20 4 16 145 | 395 | 170 M8 340 190
XQ-2.2-4 100 20 4 16 145 | 395 | 170 M8 350.5 190
XQ-3-1 100 20 4 16 145 | 395 | 170 M8 394.5 190

Hohb: g5 2 X AR E B 1198 5 1806 =
Fii%: 021-59506166 . 59506677

T 021-59504788

HIS A -

shwdmotor@163.com .

wnmotor@126.com
A 3k:  shwdmotor.com




WAM

2~60T 25| HpL (RBP4 Al EsE,

©

Je S (A

M

T1

AC

®,

28888 14

oleoleoleole]

QCQOOOO

2 SRIES

El
L
. PR 5 Rt
5 Mounting Dimension Overall Dimension
Type

yP T1 | T2 | E1 | E2 N D|F| G| M P N S H AC L
XQ-3-HT 6 | 75|53 | 72| 194 | 28 | 6|23 |68 | 80| 194 | M10 | 170 | 242 | 460
XQ-45-HT | 6 | 75|53 | 72| 194 | 28 |6 | 23 | 68 | 80 | 194 | M10 | 170 | 242 | 484

000
0000
(@0
\&.9%
o ° 0000
0000
0000
0000
L
. % 9% R F 5 R
] Mounting Dimension Overall Dimension
Type
P T1 | T2 | E1 | E2 N M P D F G S H AC L
XQ-5-HT 10 | 45 |54 72 | 215 120 | 80 | 28 6 23 | ®13.5 | 170 | 240 | 402.5
bk BT 5 X A E K 1198 5 1806 = 545 : shwdmotor@163.com . wnmotor@126.com
Hi%: 021-59506166 . 59506677 f£ 3. 021-59504788 #dk: shwdmotor.com




WM

P S A
_Bl
S i = = bl
m 2 2 T2
FL [F2
| Bl
El E2
L
} %4 R 5% R
LEE] Mounting Dimension Overall Dimension
T
ype T1 | T2 El E2 F1 F2 N M P S H AC L

XQ-3-3D 6 |75 |685 | 475 315 | 305 180 | 62 | 81 | M10 | 170 | 242 | 500

XQ-4.5-1 6 | 75| 68 a7 315 | 315 180 62 | 81 | M10 | 170 | 242 | 518

. 00000 |
Q0000
38838
00000 |
- OOOOOi
< @
=&
: ° 00000
Q0000
Q0000
Q0000
Q0000
00000
L
. % % R 5% Rk
Tvoe Mounting Dimension Overall Dimension
P T |E1|E2| D F | G M N S H AC L
XQ-10-1-HT | 10 | 50 | 72 | 32 | 7 | 28 | 130 250 | M16x1.5 | 220 300 400

bk BT 5 X A E K 1198 5 1806 = 545 : shwdmotor@163.com . wnmotor@126.com
Fii%: 021-59506166 . 59506677 f£ 3. 021-59504788 #dk: shwdmotor.com



